
1. rang

2. saw

3. wrote

4. I called him

5. had left

6. was sleeping

7. already

8. joined

9. was walking

10. wrote

11. had gone to sleep

12. had left

1. went, was sitting

2. wrote

3. was reading, called

4. came, was writing

5. Started, was getting

6. was watching, reached

7. went, had finished

8. had left, came

9. had been quarrelling,

entered

10. went

13. had gone

14. visited

15 arrived

16. had

17. faced

18. started

19. had gone

20. died

21. returned

22. met

23. had been

  sold out

24. came

25. had locked

PQ Hunt Check your ability
11. was raining

12. did

13. was sleeping, came

14. had won

15. had helped

16. arrived

17. had escaped, came

18. worked

19. went

20. laid
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PQ HUNT
1. 33333Ö22222

      c≠v hißƒ Xpeyamb a´{XntImWw BWv
ka]m¿iz a´{XntImWw AXns‚ hißfpsS
Awi_‘w 1: 1: Ö2 Bbncn°pw

    \ofw IqSnb hiw = 3Ö2

2. 1 sk.ao, 2 sk.ao, 2 sk.ao 1 sk.ao, 2 sk.ao, 2 sk.ao 1 sk.ao, 2 sk.ao, 2 sk.ao 1 sk.ao, 2 sk.ao, 2 sk.ao 1 sk.ao, 2 sk.ao, 2 sk.ao

{XntImWØns‚ sNdnb c≠p hißfpsS
XpI aq∂masØ henb hitØ°mƒ

IqSpXembncn°pw

ChnsS 1+ 2 = 3 BWv

3. Ö Ö Ö Ö Ö a2 - b2

]mZw = Ö I¿Ww2 ˛ ew_w2

 = Öa2 - b2

4. 808080808000000

    {XntImWØns‚ tImWpIfpsS XpI = 1800

      <C = 180 - (30 +70)

= 80

5. 10 sk.ao10 sk.ao10 sk.ao10 sk.ao10 sk.ao
               Ö22222

Hcp ka]m¿iz a´{XntImWØns‚ hißƒ
1: 1: Ö2 F∂ A\p]mXØnemWv

aÖ2 = 10

 a = 
10 cm

       Ö2

6. 606060606000000

ka`pP{XntImWambXn\m¬ F√m tImWpw
600 Bbncn°pw

7. 20, 8020, 8020, 8020, 8020, 80

a´{XntImWambXn\m¬ henb tIm¨ = 900

sNdnb tImWpIfpsS XpI = 900

ChnsS 80 + 20 ¹ 900

8. 5 sk.an5 sk.an5 sk.an5 sk.an5 sk.an

I¿Ww = Öew_w2 + ]mZw2

 = Ö42 + 32

 = Ö25

                                  =  5

4

3



9. 1 2
     5 

sk.ao

    Xpeya√mØ hiw = 4/3 sk.ao

   ka]m¿iz {XntImWØns‚

                            Np‰fhv = 4 2  sk.ao
        15

       4 
+ 2x = 4

  2

                                           3               15

                                             
    2x = 4 

2  
-
  4

                                                           15    3

   
  =

 62  
-
  4

                                                        15      3

    
=

 62 - 20

                                                          15

2x =
 42

        15

 
 x = 

21

                                                        15

  
  = 

7

                                                       5

    = 1
 2

                                                          5

 10. 150

ka`pP{XntImWØns‚
                             Np‰fhv   = 3a

      = 3 ´ 30
      = 90 ao‰¿

      NphSpIfpsS FÆw   = 90 ´ 1000
                                             60

      = 150

11. 40, 60, 8040, 60, 8040, 60, 8040, 60, 8040, 60, 80

180 ´ 2 = 400

                        9

180 ´ 3 = 600

                        9

180 ´ 4 = 800

                        9

12. 30 sk.ao30 sk.ao30 sk.ao30 sk.ao30 sk.ao
      hi-ß-fpsS Awi-_‘w = 3 : 4 : 5
                                12x = 120

                                              
  x =

 120

                                                        12

                                                   =10 cm

    G‰hpw \ofw Ipd™ hiw = 3x
   = 3 ´ 10

   = 30cm

13. 1/2 bh

Are you intelligent

1. 84cm2

hnkvXo¿Æw = Ös(s-a)(s-b)(s-c)

      
S = 

 a+b+c

                                       2

       
  =

 15+13+14

                                        2

         
=

 42

 2

         = 21

        hnkvXo¿Æw =  Ö21(21-˛15)(21-˛14)(21-˛13)

                      = Ö21 ´ 6 ´ 7 ´ 8

       = Ö7 ´ 3 ´ 2 ´ 3 ´ 7 ´ 4 ´2

       =  7 ´ 3 ´ 2 ´ 2

                      = 84 cm2

2. 16ÖÖÖÖÖ3 cm2

hnkvXo¿Æw = Ö3 
a2

                                   4

         
 = 

Ö3  ´82

                                    4

          = 16Ö3 cm2

3. 12ÖÖÖÖÖ2 cm

 ka-]m¿iz a´-{Xn-tIm-W-Øns‚ hißƒ
1:1:Ö2 F∂ A\p-]m-X-Øn-em-bn-cn°pw

           Xpe-y-amb hiw = 12 sk.ao

                   hißƒ = 12, 12, 12Ö2

        Xpe-y-a-√mØ hiw = 12Ö2 sk.ao

4. 56 cm2

               hnkvXo¿Æw = 1/2 bh

                                          = 1/2 ´ 14 ´8

                                          = 56 cm2

5. 9

 Hcp ka-`p-P-{Xn-tIm-W-Øns‚ 3 hihpw Xpe-y-am-bn-cn°pw

hnkvXo¿Æw = Ö3 
a2

              4

henb ka-`p-P-{Xn-tIm-W-Øns‚ hnkvXo¿Æw

= Ö 3  ´ 6  ´ 6
                                    4

= 9Ö 3
sNdnb {XntIm-W-Øns‚ hnkvXo¿Æw

= Ö3 ´ 2 ´2
   4
= Ö3

FÆw =
  hep-Xns‚ hnkvXo¿Æw
   sNdp-Xns‚ hnkvXo¿Æw

= 9Ö3
  Ö3

= 9



6. 2525252525

        Ib-dns‚ \ofw = Ö202 + 152

                          = Ö400 +225
                          = Ö625
                          =  25

}
50

20

20

35

?
50 - 35 = 15

a[pcw aebmfw ˛ 8

PQ HUNT

1. kpµ-c≥

2. km¿∆-\m-anIw

3. hntijWw

4. Hcp Intem Acn

]ncns®gpXpI]ncns®gpXpI]ncns®gpXpI]ncns®gpXpI]ncns®gpXpI

1) a\x+cYw

2) kvt\l +GIw

3) hmIv+-tZhn

4) h\w+-C¬

5) AXn+ B]Øv

6) ]q+ Imhv

7) D] + BJ-ym\w

8) DXv+-Xn-jvTX

9) AXn+-B-h-iyw

10) {i≤+-A¿lw

11) ta¬+a

12) Icn+-I¬

13) DZv+-tbmKw

14) \h+-B-K-X≥

15) ta¬+ ta¬

16) Iew + Ad

17) A +A≥

18) h´w + N´n

19) Bbncw + B≠v

20) Alkv + hrØn

]Z-ip≤n]Z-ip≤n]Z-ip≤n]Z-ip≤n]Z-ip≤n
1. -A-XnYn

2.- A-[aw

3.- A-jvSan

4.- sN-ehv

5.- A-[n-]Xn

6. -{IoU

7.- ]oU\w

8.- ]mZkcw

9. irwJe

10. -k-{am´v


